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2024
CHEMISTRY
' (Sk111 Enhancement Course)
Answer the Questions’ from »any one Option.
OPTION-A -
. Paper : CHE-SE-5014 \
( Chemical Technology and Society)
, OPTION-B
" Paper : CHE-SE-5024

( Chemomformatzcs )
OPTION c

Paper : CHE-SE-5034 ..

(Business Skills for Chemtsts )

OPTION-D

Paper : CHE-SE-5044

(Intellectual Property Rights)
Full Marks : 50
Time : Two ‘hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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. OPTION-A
: Paper : CHE-SE-5014
- (Chemical Technology and Society) -

Answer the following : . _
(@) .What is a-cheniical reactor ?
RS [ e

(b)) What instrument can be used to
" measure dew pomt'P 7

P R gkt & W Ralu
(c) Define soil fertlhty '
e TleeR et o I
d). Give two examples of ‘biofuels.
_U§§3§W§ZW’€WQ¥TﬁNH
. Answer the followmg : 2x3=6
'7$5ﬁﬁmm¢5@@<ﬁ*ﬂ '
" (a) What is meant by genetm engineering ?
- o et e & o e

(b) What is the relative humidity of a gas .

'~ with a partial pressure of water vapour

5mm Hg and vapour pressure

8mm Hg?

1x4=4.

& PR SR St S mm Hy i Ao
5%l 8 mm Hg (IR (e SIefes gl iy 2

() What are the different types of
distillation methods ?

ﬁﬁ«%m%ﬁﬁsﬁs?

. Answer any two from the followmg

Bx2= 10

(a) What is the dlfference between etchmg .
and milling? What are the different
types’ of chemical milling ? 3+2=5
ofix o fiferes Aew s B IR
et Rt oo & e

(b) Describe in brief about scahng up in

-chemical 1ndustry

wﬁawﬂsmﬁ\waﬁmmm.
B '

(¢) Discuss in brief nuclear ﬁssmn as a
source of alternative energy. '

o ﬁwﬁf@q@qw&mﬁwﬁasmm
- S ) ~

() What types of pumps are used in

- chemical industry ? Mention in brief
any one of them. 2+3=5

: ' 46 2 o SR o
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= QI R 4517 mwwle

-4, 'Answer any three from the followmg

10%x3=30

Wwﬁmmf@ﬁ?f?ww

@
" technology ? Why is it important ? What

9

What do you mean by clean

are the; different types- of-clean
technologles'P ' 2+3+5=10

sREie o7 IR e T B owgle

'ﬁﬁ««v{ﬁmwﬁ@ﬁsﬁw

Describe in brief the -different steps

‘involved in manufacturing of drugs.

»@ifaﬁwaﬁ@wﬁz@ﬁ@lﬂiﬁwﬁﬂmm

A /b

What aré the types‘ of material balance

problems in chemical industry ? What
. do you mean by purge stream?

Distinguish between stagewise and
continuous operations in chemical
industry. |

1 Rye ot B I [ e e Sogise
‘ Ww%@wwm@M|
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5+1+4=10 .

e P e

(d) What is air pollution ? What are the

(e)

main causes .of air pollution ? Explain
the environmental effect of air pollution.

Wy el e A TR S AR B Re

_WW?@WWWWWI

What do you -mean by renewable

- sources of energy ? Mention different -
 types . of such sources. Why is solar

energy important? What are the
different types of solar energy? Mentlon
any one in brief. ' '

‘a%mmmﬁ%a@ﬂqﬁm%qm? ﬁiﬁz’

FIR G TR T T [ | GRS [_w
wwgelf? Clife Rfen ooR & Rre Rczrcat

E G517 wnsgza?@cmaﬁn
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Write ‘about the synthesis, properties
and uses of Nylon 6 and Nylon 6, 6?

AT © T TREW ©, VT IR, iﬁfW
| Rew w0
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OPTION-B ‘
.Paper : CHE-SE-5024
( Chemoinformatics)

1. Answer all of the followmg questlons :

1x44‘

(a) Why chemoinformatics is needed ?

(b) Using scientific notation how the name
of a c-hemical element is given ?

‘Wﬁﬁwﬁﬁwﬁmﬁwm .

-,:ns: I fﬁtn e
(¢) What is the full form of CIF ﬁ]é ?
CIF FizeR S T e

{d) What is drug receptor interaction

energy ?

e R bR R e oy
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2. Answer all the questions from the fo]lowmg
’ 2x3=6

(a) Give the IUPAC names of the follov-vin'g:
weTe fAPRER IUPAC SR <t 5

\\\\\

() .‘Mentlon the form most popular
‘line’ notation systems used in
chemomformatlcs . ' '

AR TS SGIRSLT T e
TR iy T SR =

() In matrix representation ethanal is
represented by a matrix with
row and columrr.
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AR T W TS & w
e AR
3. ‘Answer c‘my. two : 5x2=10

fRirtet o9 e foral 8
(a) With suitable example, discuss the
~ applications of SMILES coding.

TPz SMILES 3Ifvex I7es Raw
s 9 |

() In matrix representation of chemical

structure what different types of matrix
are used for describing d1fferent
parameters ?

meﬁwmﬁﬁﬁmaﬁ
wm%ﬁﬁw m@wmazm@?

(c) -D1scuss the application of computer
aSSISted structure -spectra correlatlon

WﬁWWI

o1 ;.(d) Write about the maih components of a
sd files.

aﬁsaWwemmmml
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4.

Answer any titree from the foHovﬁng 2

10x3=30

w—ﬁmﬂq@ﬁmwrfﬁﬁawm

(@)

D1scuss the role of computers in the

- study of structure, propert1es and

act1v1t1es of molecules

. 'wi[@mﬂém emqwmﬂaww
‘Wﬁm«gﬁwmwn.

o ®

(e

(d)

How physmal chem1ca1 and structure
descriptors are helpful in searching
chemical structures ?

oiF MR INPRNET @FEME FITS A2

What is virtual screening of drugs?:

Write applications of structure-based
drug designing in the discovery of new
drugs ? : T 5+5=10

/@ﬁ%wmﬂﬁﬁwa@@ww'

SoTefes feizng et il |

What is ligand-based drug designing ?
How are combinational libraries used
during drug designing ? 5+5=10
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Proite-fofes Sar Rowizie fre T etz | . " OPTION-C .

S FREOREE ARG FEE IR I ~ Paper : CHE-SE-5034
=y : , ‘ : (Business Skills for Chemists)
- (e) -Write short notes on : (any tugz)z 1'0 B 1. Answer the following . 1x4=4
(i) - Lead compound in drug des1gn1ng (@) The time period. of protection of an
8y stz ‘o P g Indian patent is 50 years.
(i) - Ideas of similarities search of | (True/ False]
. ’.chemical .structures. ) ) W Cm W YW T4 ¢o RS R
I M AP gl R | - - (EEjE)
(i) What is toxicity ? Discuss the | (1) " is very important for an.

‘process of model building for:
measuring toxicity of a compound.

- Rawe Rr ct o Rareet R | &I R AW S |
AR N e afert e w9l B o (P R )

organisation.’ (Teamwork/ Group work)

' (c) Who is the father of modem
marketing ?

. wtqﬁaa-ﬁﬂmﬁg @i ?

(d) - Which ‘state gets the GI tag for ‘Kajl
-Nemu’?

' wﬁ’tcﬂa’aol c%eicaﬂwmﬂ?ﬂﬁcw
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‘2.

(a) What is chemical 1ndustry ? How does |

Answer. the fo‘llowing S 2x3=6

_(a) What do you mean by hol1st1c

marketmg ?
SR Rori e o e
(b) -erte__ "a short note on patent.
(A5 GHIRS B (Bt T |

(c) What are the pros and cons of onlme
marketing ?

ST ‘W@é ST B B e

Answer any two of the following :
, , 5x2=10

it affect the environment ?

Wﬁﬁsﬁmﬂ%?iwﬁmwm
e

(b) Write about the different types of
1nfr1ngement of copyright.

" PRI Beeee RiSR e Rz Bl |

*3 (Sém-5/CBCS) CHE SE 1/2/3/4/G 12

() ‘The profit maximization is not an
operatlonally feasible cntenon Do you
agree ? Give reason.

Wﬁww@mﬁwmﬂaw@ﬁ
| o e @Re et e

(d) What.is busmess plan ? DlSC'l.lSS the
- vafious aspects to be ‘covered by an
" ideal business plan.
AR TR eI e w1

Answer any three of the following :
10x3=30

}wﬁmmﬁmmﬁﬁmwm

(@) What is IPR? Why is it important to  '
protect IPR? Discuss about the

different components of IPR. |
2+3+5=10

IPRqﬁmﬁ?{em IPRSE%F@WﬁW |
ok IPRGW@WWW
=i

—
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(b)

(¢

(@)

(e)

What are 4Ps of marketing ? Explain it

in detail by considering a product as

an example. 4+6=10

Roi 4P & &2 @b SNalE Gnizd 2l
e 7 Regei it 4t |

Define HRM. What are the objectives of
HRM ? Discuss the importance of HRM

for running a successful business.
2+3+5=10

HRM < %<l 7@t | HRM 3 Sraeiprg & &2
e A GO BCAERIE A HRM § 969

. = wicEsa €

Explain the role of chemistry in global

economy.

et w19 e e ofimst rap 7 |

What do you mean by trademark ? Give
the essential features of trademark.
Discuss briefly the procedure for
registration of trademark.

2+3+5=10

@WW%@?WW

CRBPRIR 11 | (Gonida AG stafes B
D ST 1|
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() - What is the importance of cost

accounting in a chemical - industry ?
What are the two main types of cost ?
Discuss each of them in detail.

3+2+5=10
IAREE Somicie 495a BEivE ey 2 459

o1 2 15! & 5 2 3w 2R Raw Regeim
SNCEGA I/ |
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OPTION-D
. Paper : CHE-SE-5044

(Intellectual Property Rights)

Answer the following questions :

'(i) Define trademark.

CGOIF e fordt|

(iij What is traditional knowledge.

ATFINS T [

(iii) What are researcher’s rights ?

NREFY SfETITPE F &2
| (iv) What is domam name ?

‘@’Cﬂiﬁ?ﬂw o

Answer the following questiéns :

o NIRRT Te o g

(i) Write briefly about economic right.
o e R o B |
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2x3=6

1%4=4

s

(i) Write about certification mark.

mﬁwwmm

(i) Discuss the GI status of Assam and

Answer any two from the followmg

)

(i)

| (iiil
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NE.
wm@mq« GI wmmm
mew: .

Sx2= 10

Define the term ‘Design’. Write about
registration of design.

mmmm.mﬂ@mm,
ﬁ‘am | |

‘What 1s.c'opyr1ght? Discuss about
copyright protection.

| asmi‘%ﬁs?asﬂaﬁ%wmwmmwﬁ .

Write' about the reglstratlon of
trademark. What is the importance of

trademark ?

@Wwvf@mﬁﬂmﬁ?ﬁlm@w
o
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4

Answei-. any three questions :

(iv) Discuss about the Indian Pate,nf Act
(IPA), 1970 and its Amendments

ORSH (SI(5% B2 (IPA), 1970 W6 28R

wmﬁaﬁmwmwwu

@)

i)

What is WTO-TRIPS ? Explain the role -

of these otganisations in promotion of

IPR.

2+8=10

WTO-TRIPS f&? aiww IPR ¥ SRS

| TR oSt e 38|

(a) What is patent ? Discuss about the

®

criteria of patentability and

beneficiaries of patent. 1+3+3=7

IB% e EBRITOR NS S

c-15%1 ReiRefia R Siicetion <

Discuss. about the requirements

* for obtaining patent. : 3

Cﬂﬁwm WW
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10x3=30 -

(i) () What are the d1fferent types of

(b)

trademarks ? Elaborate .each of

. them w1th appropnate example

6

ﬁfwm o B o T
W‘WWWWM| .

‘Write about the Ob_]eCtIVCS_. and .

of World Trade

functjons

Organisation (WTO). -. =~ "4 -
 affey FER (WTO)t?CW W
W waﬂm 3411

What is Berne Conventlon?’
Discuss the basic principles,
provisions and hmltatlons of the
Convention. 1+6=7

e e 5 2 % A T S, R

(iv) (C._t)
b)
W @
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“copyright infringement.

wmmwx

Discuss bneﬂy the issues covered
by TRIPS Agreement.

TRIPS 3@ AR mﬁﬂwﬁiﬁ
ST 1 -

What is IP mfrmgement » Discuss
about patent infringement and

1+2+2=5
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"‘_Ipﬁa’wtﬁs? tﬁ@%@ﬁwwﬁw .
- Teikaie Raw e 4 (- |

(b) Write about Budapest Treaty.
Mention the main features of this
Treaty.. " 2+3=5

o AR R B @2 AR
. (vi) (a) Give a brief discussion of GATT
. and GATS. . 3+3=6
' GATT 9 GATS I @5FS 53 SIGoAl -
. S{IRCPIT |
. (b) Discusé_'b.rieﬂy about WIPO. 4
WIPOT ReGH b3 sitcatoe i |
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